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log[Empfindlichkeit] logLo = —0,35L\—us7* [l log[Séttigung] logLo = —0,35[)~Us7* log[Empfindlichkeit] logLo = —0,35L\—us7d* [l log[Séttigung] logLo = —0,35[)—Us7*
logVo = —0,35[\—Uss7? logM o= —0,350\—us:]% ll logVo = —0,35[i,-Uss7? logVio= —0,35[1)—Us:4? logVo = —0,35[\—Uss7? logM o= —0,350\—us:]% ll logVo = —0,35[1,-Uss7? logVio= —0,35[1)—Us:4?
logVa=logVo +0,00 logLa= logLo+0,02 logVa= log Vo +0,00 logLa=logLo+0,02 logVa=logVo +0,00 logLa= logLo+0,02 logVa= log Vo +0,00 logLa=logLo+0,02
log [Vo, La, M5, ] logMV 2= logM-+0,02 log [Vo/Vo,La/Vo,Mo/Vo,] logVi2 = log M ,+0,02 log [Vo, La, M5, ] logMV 2= logM-+0,02 log [Vo/Vo,La/Vo, Mo/ Vo] logVi2 = log M ,+0,02
M u\=(A\-550)/50 Ma La Sattigung V M u)=(A\-550)/50 Ma La Sattigung V
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log =-0,35u,-u ]2+0,02Iog La= logLot+0,02 log =-0,35u\—u ]2+0,02Iog La=logLo+0,02 log =-0,35u,-u ]2+0,02Iog La= logLot+0,02 log =-0,35u\—u ]2+0,02Iog La=logLo+0,02
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log =-0,35U)-u ]?~1,17logLa= logLo+0,17 log =-0,350)-u ]%-1,17logLa= logLo+0,17 log =-0,35U)-u ]?~1,17logLa= logLo+0,17 log =-0,350)-u ]%-1,17logLa= logLo+0,17
S logV 2= logM--0,13 log [V +/Vo,La/Vo,Ma/Vo, Vo] logMa=logV-0,13 logMV 2= logM--0,13 log [Vo/Vo,La/Vo,Ma/Vo, Vo] logMa=logV 0,13
u\=(A\-550)/50 Sa Ma La Séatigung V S u\=(A\-550)/50 Sa Ma La Séttigung V
L:M:S Adaptation 1 L:M:S Acaptation 07 * L:M:S Adaptation 1 L:M:S  Adaptation
=16:8:1 L&M: 557 =16:8:1 L&M: 557 + =16:8:1 L&M: 557
e » =0.04

La=0,13
A Vigems 0l Vi ==0,0(
MG==0,r2 Ma=-0,1

1
1
1
H 1
L0=-0,02 L3=0,13 '
V0=-0,00 Va=-0,00 1
Mo=-0,0; Ma=-0,17 1
So=-17 Sa =22 1 So =—",77 Sa =-2,9
YdpEC  5¢5EC 570 495Ec  565EC [ '445 5490 1570 495Ec  565EC 1 570 49Fic  565EC

600Ag/nm 700x; 400 500 600Ag/nm 700Ac 400 600Ag/nm 700x; 400

log[Empfindlichkeit] logLo = —0,35)~Us7d log[Séttigung] logLo = —0,35l)—Us7 log[Empfindlichkeit] logLo = —0,35)~Us7d log[Séttigung]
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